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{71352 B AR | HBEHHE e & #HIZ & INET
1 EIER 074 39,000 0 5,000 0 0 284,000
2 EIER IR 17,700 10,000 4,914 0 0 272,614
3 EIER PR+ 28,000 52,500 5,980 0 0 206,480
4 EIER = 36,100 20,000 12,562 0 0 188,662
5 BEREBHBR = 29,600 10,000 12,394 0 0 171,994
6 RERESER 255 8,600 150,000 10,834 0 0 169,434
7 EIER A 46,000 88,800 3,000 0 0 137,800
8 O EE2R E*EE 16,000 0 1,000 0 0 137,000
9 RAER sR*TE 80,480 36,000 13,964 0 0 130,444
10 ROARER =5 5,200 0 1,408 0 0 126,608
11 | BEFREBHR ah*2p 48,000 73,000 5,200 0 0 126,200
12 | BEREBHR & 25,800 83,000 5,848 0 0 114,648
13 O E 2R e 10,000 100,000 1,000 0 0 111,000
14 IR BeR * 351 1,500 0 0 100,000 0 101,500
15 | BEREBHR S 18,600 60,000 5,200 0 15,000 98,800
16 IR =k 36,000 58,500 1,000 0 0 95,500
17 IR FrIE 33,800 48,300 8,848 0 0 90,948
18 RIACER M*58R 33,600 30,000 22,060 0 0 85,660
19 EIER M*TE 30,200 50,000 3444 0 0 83,644
20 RIACER T7*H 4,400 0 7976 0 0 82,376
21 RIACER BER*3C 15,200 20,000 10,868 | 35,480 0 81,548
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{71352 B AR | HBEHHE e & #HIZ I\E
22 EREEN DAy 5,500 70,000 4,216 0 79,716
23 EREEN 5 13,000 60,000 1,000 0 74,000
24 EIER ESRES 7,000 62,500 2,744 0 72,244
25 | BEREDIBR R E 5,400 60,000 5,200 0 70,600
26 MEFEER e 22,200 45,000 2,592 0 69,792
27 EIER TR 14,800 50,000 1,800 0 66,600
28 EIER 15+ 23,500 10,000 4,500 20,107 58,107
29 EIER R 55,000 0 2,480 0 57,480
30 IR B 25,500 0 9,000 21,538 56,038
31 RAER Bz 25,600 10,000 19,908 0 55,508
32 RAER M*L 30,800 0 22,060 0 52,860
33 | REKEEER BR* & 2,500 41,350 6,996 0 50,846
34 IR TR 38,400 0 9,000 0 47,400
35 IR F*E 24,125 0 6,300 15,814 46,239
36 | BEHBREDL | HYW 25,000 6,000 12,776 0 43,776
37 IR BR*40 0 8,000 0 34,490 42,490
38 1RICER BER* 24,800 0 16,814 0 41,614
39 EIER N 29,500 0 9,000 0 38,500
40 | BEABREPD =S 4,500 30,000 3,808 0 38,308
41 MRERBER ZE 33,600 4,000 0 0 37,600
42 | REABEER HH*BE 29,700 0 6,996 0 36,696
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43 RAER 1B 5 30,000 0 5,700 0 0 35,700
44 EREEN =T 5,400 30,000 0 0 0 35,400
45 MEFERER HA* 3D 30,400 4,000 308 0 0 34,708
46 EIER BR*E 4,600 30,000 0 0 0 34,600
47 EIER izl 26,000 0 8,200 0 0 34,200
48 RAER =I5 16,600 10,000 7416 0 0 34,016
49 | REABESER W2 15,000 10,000 6,654 0 0 31,654
50 RAER E-ES 15,900 0 15,176 0 0 31,076
51 EREEN B 45 4,500 20,000 5,000 0 0 29,500
52 RAER B+ e 9,400 0 20,100 0 0 29,500
53 O EE2R E*g 18,300 10,000 1,000 0 0 29,300
54 FEFZREER A& 15,000 4,000 10,292 0 0 29,292
55 O E 2R =*1 23,000 0 5,500 0 0 28,500
56 MEERER A 24,000 2,000 1,296 0 0 27,296
57 O E 2R gy 20,600 5,000 1,000 0 0 26,600
58 | REKEEER BE 9,496 10,000 6,304 0 0 25,800
59 IR RIS 16,000 0 9,000 0 0 25,000
60 | BEFRBEHR S 24,000 0 1,000 0 0 25,000
61 MRERBER T*45 19,800 2,000 2,592 0 0 24,392
62 | BEHEBBREDL | BE 10,000 8,000 6,274 0 0 24,274
63 EIER E*8 22,000 0 2,000 0 0 24,000
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64 RAER E*{p 15,800 0 8,200 0 0 24,000
65 EIER =) 22,000 0 2,000 0 0 24,000
66 | REKEEER B 3,400 10,000 7,996 0 0 21,396
67 EIER =] 16,000 0 5,000 0 0 21,000
68 | BERBBEHR T35 15,400 0 5,200 0 0 20,600
69 ERZEER iE* 18 15,000 0 5,200 0 0 20,200
70 MEFEER ] 10,000 6,000 4,008 0 0 20,008
71 O EE2R Elliged 13,000 6,000 1,000 0 0 20,000
72 | BEHBBEDSL | BE 19,000 0 1,000 0 0 20,000
73 EIER XX 13,000 0 5,700 0 0 18,700
74 MRFEER =1 0 0 3,300 0 15,000 18,300
75 EIER BeR* 478 16,000 0 2,000 0 0 18,000
76 O E 2R RIS 16,200 0 1,800 0 0 18,000
77 REAMRER RIS 3,200 0 14,740 0 0 17,940
78 IR BR*25 16,000 0 1,000 0 0 17,000
79 | REEARREER BR* 2 900 10,000 5,996 0 0 16,896
80 IR Hr 9,000 0 7,300 0 0 16,300
8l | BEHBBREDL | BE'R 15,000 0 1,000 0 0 16,000
82 EIER F* 11,000 0 4,424 0 0 15,424
83 EREER RS 15,400 0 0 0 0 15,400
84 | BEHBBEDP L == 10,000 0 5,200 0 0 15,200
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85 EIER ol i 6,000 0 9,000 0 0 15,000
86 EIER F*E 13,000 0 1,000 0 0 14,000
87 EIER = 13,000 0 1,000 0 0 14,000
88 EREEN PR *15 13,800 0 0 0 0 13,800
89 OpEEEER g 12,400 0 1,000 0 0 13,400
90 RORER ErEE 11,100 0 1,000 0 0 12,100
91 EIER B*F 9,000 0 3,024 0 0 12,024
92 EIER Br* 10,000 0 1,800 0 0 11,800
93 | EBEREBHBH M*4e 5,400 0 5,858 0 0 11,258
94 | BEHBBEDL | EHH 0 6,000 5,200 0 0 11,200
95 EIER R*E 3,000 0 8,200 0 0 11,200
96 O EEER ] 0 10,000 1,000 0 0 11,000
97 IR R*E9 10,000 0 1,000 0 0 11,000
98 IR B 6,300 0 4,500 0 0 10,800
99 1RICER BR*ER 5,000 0 5,700 0 0 10,700
100 IR 21 10,500 0 0 0 0 10,500
101 MEERER B 0 10,000 0 0 0 10,000
102 | BEHBERREDPL | B'R 10,000 0 0 0 0 10,000
103 MRERBER J1*HR 7,800 2,000 0 0 0 9,800
104 IR T*E 6,800 0 2,350 0 0 9,150
105 EREER BE 5,300 0 3,808 0 0 9,108
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106 MEFERER = 4,800 4,000 308 0 0 9,108
107 | RREAEESER Shi=s 3,900 0 4,796 0 0 8,696
108 EIER *F 0 7,000 1,648 0 0 8,648
109 RAER H*I 3,600 0 4,014 0 0 7,614
110 EIER SR 6,000 0 1,600 0 0 7,600
111 EIER ER*IE 3,000 0 4,500 0 0 7,500
112 | BEHBRREPL | Z5E 0 2,000 5,200 0 0 7,200
113 | BEHBREPL | BB 0 2,000 5,200 0 0 7,200
114 EIER TR* 15 6,000 0 1,000 0 0 7,000
115 EIER A 6,000 0 1,000 0 0 7,000
116 EIER % 6,000 0 1,000 0 0 7,000
117 EIER £ 6,000 0 1,000 0 0 7,000
118 IR S5 6,000 0 1,000 0 0 7,000
119 IR H*15 6,000 0 1,000 0 0 7,000
120 IR =*A 6,000 0 1,000 0 0 7,000
121 IR R 6,000 0 1,000 0 0 7,000
122 IR R+ 1= 6,000 0 1,000 0 0 7,000
123 MRERBER E*% 4,800 2,000 0 0 0 6,800
124 RIACER R*E 6,400 0 0 0 0 6,400
125 EIER G 6,000 0 0 0 0 6,000
126 | BEHBREDPL | 22 0 6,000 0 0 0 6,000
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127 | BEHEREDL | TR 0 0 6,000
128 EIER Fgb 6,000 0 6,000
129 EIER PR*3E 6,000 0 6,000
130 EIER icaal 6,000 0 6,000
131 EIER B+ 3,000 2,754 5,754
132 ERZEER A 0 5,700 5,700
133 EIER *YF 5,500 0 5,500
134 EIER = 3,000 2,436 5436
135 | BEHBEREDRLO | BB 0 5,200 5,200
136 | BEHBREPL | FTHE 0 5,200 5,200
137 | BEHBEREDPL | & 0 5,200 5,200
138 | BEHBREPL | =2'F 5,000 0 5,000
139 IR Brth 5,000 0 5,000
140 EREER T+ 3,600 1,000 4,600
141 IR TR* % 3,000 1,000 4,000
142 IR M*EE 3,000 1,000 4,000
143 IR ERES 3,000 1,000 4,000
144 | BEREBHBR SR* I 3,000 1,000 4,000
145 EIER Bf* % 0 4,000 4,000
146 EIER E= 3,000 1,000 4,000
147 EIER =*A0 3,000 1,000 4,000
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148 EIER iz 3,000 0 1,000 0 0 4,000
149 MEFERER = 0 0 3,850 0 0 3,850
150 EIER = 3,600 0 0 0 0 3,600
151 EIER S 3,000 0 0 0 0 3,000
152 EIER A 3,000 0 0 0 0 3,000
153 EIER BeR * 380 3,000 0 0 0 0 3,000
154 EIER SR 3,000 0 0 0 0 3,000
155 EIER F*E) 3,000 0 0 0 0 3,000
156 EIER >3 3,000 0 0 0 0 3,000
157 EIER i 3,000 0 0 0 0 3,000
158 EIER R*ES 3,000 0 0 0 0 3,000
159 EIER TR*EE 3,000 0 0 0 0 3,000
160 IR B4 3,000 0 0 0 0 3,000
161 IR B+ 3,000 0 0 0 0 3,000
162 IR H*4C 3,000 0 0 0 0 3,000
163 FERZEEER Bl* 45 2,993 0 0 0 0 2,993
164 IR SR> 4t 0 0 2,444 0 0 2,444
165 | BEHBREDPL | 2 0 0 2,252 0 0 2,252
166 EIER BR* 4= 0 0 1,850 0 0 1,850
167 EIER TR 0 0 1,000 0 0 1,000
168 MRERBER DM ! 0 0 1,000 0 0 1,000
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169 ERZEER St 0 0 1,000 0 0 1,000
170 EIER I 0 0 1,000 0 0 1,000
171 EIER A= 0 0 1,000 0 0 1,000
172 EIER HrE 0 0 1,000 0 0 1,000
173 EIER =5 0 0 1,000 0 0 1,000
174 EIER 2*18 0 0 1,000 0 0 1,000
175 EIER 2= 0 0 1,000 0 0 1,000
176 EIER ZF*0E 0 0 1,000 0 0 1,000
177 | BEREDHBR >R 0 0 1,000 0 0 1,000
178 EIER RE 0 0 1,000 0 0 1,000
179 EIER =5 0 0 1,000 0 0 1,000
180 EIER T*N, 0 0 800 0 0 800
181 EIER EEXIH 0 0 0 0 0 0
182 | BEHBREPL | BB 0 0 0 0 0 0
183 | BEHBREDPL | IME 0 0 0 0 0 0
184 | BEHBREPL | M 0 0 0 0 0 0
185 | BEHBREPL | =B 0 0 0 0 0 0
186 | BEHBRREDPL | AHE 0 0 0 0 0 0
187 | BEHBEREDPL | BE 0 0 0 0 0 0
188 | BEHBREDPL | BD 0 0 0 0 0 0
189 | BEHBREDPL | R'R 0 0 0 0 0 0
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190 | BEHBEREDL | R 0 0 0 0 0 0
191 EIER Kl S 0 0 0 0 0 0
192 EIER B 0 0 0 0 0 0
193 EIER B 0 0 0 0 0 0
194 | BEABRREDPL | K& 0 0 0 0 0 0
195 | BEHBRREPL | BE 0 0 0 0 0 0
196 EIER BeR * 3 0 0 0 0 0 0
197 EIER Z*ia 0 0 0 0 0 0
198 | BEHBREPL | Bk 0 0 0 0 0 0
199 | BEREDHBR -l 0 0 0 0 0 0
200 EIER TR*52 0 0 0 0 0 0
201 EIER B Hi 0 0 0 0 0 0
B E 1,977,094 | 1,580,950 | 650,958 | 227,429 | 30,000 | 5,616,431
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